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Matrices as linear combinations:
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span{viy,va,..., vy} = the set 04 linegr combinations,
C1V1+cCaVa+...+Cp Vn, of the/vectors/in {vy, va, ..., v }fi

anchored at b=0 - ///
= the hyperplygne;é’,aﬁ‘i:ain' g the/point ’

L acl
Let A= l%..an], Where_the'c-zz-' are. k-vectors. 5" e
A

. . . i -
\ \’\ @s in span{ay,...,a,} if and only if Az = b has at least
“one solution.

e

spanf{ay,...,an} = R* if and only if Az = b has at least
one solution for every b

(leading entry in every row).




Does span{ m , [g}} - R2ince R

4 . 1 ) bl
8} = [bJ has a sol’n for all [bz]'

\
L1l _ by has a sol'n for all b1 . J
b2 b2

Check:

B ran e

Short-cut: {;1 1s not a multiple of {2} ;

Thus span of { [2} : {g}} is 2-dimensional.

The only 2-dimensional plane in R? is R2.

Note this short-cut only works in R2
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